MATH 125 - Test 2 Practice



Name __________________________________
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Calculate.  If not possible, put undefined:

1)  A + B


2)  3B



3) AC
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4) AE             


5)  AD         


6) B + D


7)  B – 2A
Show your work.
____________________8)  Given that the augmented matrix  
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  represents a system of 

                                             equations,  give the solution to the system of equations. 

9.    Use Gaussian Elimination to solve the following systems:   















x – 2y + 3z = 4

       








2x + y – 4z = 3










-3x +4y - z = -2

10.   2x – 3y = -4





11.  5x + 2y – z = -7

        5x + 7y = 1


       


       x – 2y + 2z = 0







 


    3y + z = 17


12.    x + y – z = 0

     3x – y + 3z = -2


     x + 2y – 3z = -1

ANSWERS TO PRACTICE FOR TEST 2:
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  5.  Undefined    6.  Undefined

7.  
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   8.  x = 1, y = 3, z = 2      9.  (4, 3, 2)     10.  
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    11.  (-2, 4, 5)    

12.  (-2, 5, 3)
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